Energy units alhbll Olisg

How much energy in joules is supplied by a
breakfast containing 170 Cal?

170 Calig 28 el Ay s Uy o (1) ) B g Al e

7114 a
170J b
711x10%J .C
1.7x10°J d
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n a 58.8 g piece of hot alloy is placed in
3 of cold water in a calorimeter, the
yerature of alloy changes from 606.1°C to
1°C, while the temperature of water
rases by 10.5°C.

tis the specific heat of the alloy?

125 g 58.8 g L4aliS ikl ASums (e Ak puaag 2ie
O LITWA -5 TN PRPTRLIPY: Ly W JUR I P2 N (W
slall 5 ) o Aa )3 adl 5 Laly 500.0°C ) 606.1°C
10.5°C )iy

PASauad) sdgd Ae 4l 5 ) jall La

Nil."lg that the speclﬂc heat of water at
K (25°C) is 4.184 1/(g.°C)

¢ sl slall 298K (25°C) e A gill 5 ) al) oy Lale
4.184 )/(g.°C)

45.54%
r=11nl

0.880J/(g."C) 3
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| of the following is correct about the reaction with | ®slal J& mdall 4 — € 1adad) 3 Jolid) Jsa Buaus 4050 Ga

juation: A4 — C ,shown in the diagram below?

AH > 0

Hprndiu’l‘l < Hrlnrhlnl‘l

Heat flows from the system to the surroundings

AH > 0

Bl ) oD G i 5 0

|

e - P
- 3
E '-1 AH
T‘;!
l ______________ [l — Y.
I only LiE | LA
and Il only L& 151 .B |
| and Il only LEsn @
and Il only BEmsl D
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h of the following statements is not correct according to the
am shown below?

Tolial JSAI o 1ale ! Aasaia 18 AN @l el i

o -HzO(
* 2 ﬂ}
AH
..,
:g A AHong
’ v
—---Ha 0 ----*
A
&Hfu‘l-
AHohia
H30(s) h 4

e AH values of the molar enthalpy of vaporization and the
Jlar enthalpy of fusion are positive

Agdgall 300l Al Adgall 35100 AH a8 5sS5 LA
e gn palh

The AH values of the molar enthalpy of condensation and
ar enthalpy of solidification are negative

Saadll A pall 5 ) el y CASSIL A 5l 5 ) ALl AH ad 0S5 LB
i

e molar enthalpy of solidification and the molar enthalpy of

sion have the same numerical values but with opposite
Ins

T g caail ol 51 AT Bgaatl Al 5 s C
g ) RS (gl dlpal 310 psand

e molar enthalpy of condensation and the molar enthalpy of
)orization have the same numerical values with same sign

Al o R 20 5 5 ) Ll Rl (5 gl @
gl ) Al y pdlll A gl 5 adl dgasd)
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ch heat is required to vaporize 63.07 g | L& slall (4 63.07 g sl 4 31 5 ) all 43S Lo
at 100 °C according to the equation falial Alalaall 8 § 100 °C 5 8 4a
elow? (18.02 g/mol = sLall & gall ALic))
)ass of water = 18.02 g/mol)

HZO{I] — Hz D(g] ﬂHmp =+40.7 l{l/mﬂl

+142.5 k) 1
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How much is AH of the following reaction? G JRUill AH 4ad L
€Oy + 2Hy () — CH30Hy, CO + 2ZHy, — CH30H,

Use the thermochemical equations (a, b and c) shown below slial daudagall ¢ 9 b s Al ad! Auiuas] cdlaal) saddu)

. €O +3 044 — €Oy AH = — 284 k]

b.  Hagg +3 0 — Ha0g) AH = — 286 K]

C. CH;UHm +%ﬂ'z[E] - Enz[g} + ZHE.}[H AH = - 727 kl

-129 kI -
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'h of the following represents the standard enthalpy of el G ) o pall A 0955 518 i L

ation for the compound formed in the following reaction? el
Nz(g) + 2025 — 2NO AH = + 66.4 K] .
2C0, + 0544 — 20, AH = — 568 k] 2
50’3[‘] + Hzﬂ[” — H;SUm} ﬂH = - 314 kl 3

1 1
EHZts} + EFzm - HF[;} AH = — 273 K] .
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the following processes the AS, ,,,, Sign is positive? Plas AS, 5k (s A0 cldad i

NaCl,, — Na’,,, + CI

(aq) 1
025 = O2aq) 2
Em“sm - Em“am 3

ClFg) + Fyg) — ClFy 4
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following reactions would you expect to be faulle 5l a Sila a2 Ll 0 oS (1 ad o Al Sl Ga (o)
at high temperature? (2l [paadl aside)
s below)
AG yystem] Reaction spontaneity Jelkh 4an AG s | AS i AH L,
abways — — always mam uls AL LAl s + -
=or+ neous at r temperature HTTON ] - i — —
= or + Spontaneous at higher temperature HIT ;j::ﬁ M! Ak i j:: + +
always + never spontaneous Hu"m# badly i gt . +
b o+ cl; g) = PClsg) AH°=-87.9k

ONHsg > Nog +3Hyy  AH =+92.2 k)
I'.':Dl,; + 01“} 22 CD‘;M AH® =-566.0 kJ

10y + ¥021g) =2 H202 AH® = + 105.5 kJ



https://seraj-uae.com/file/7719/

sthe AG ..,
m =195J/K ¢« AH

value of the following process? i) ALl Gy, Aadla

2

system = 145K]  and T=203k? e —195)K 5 AH,, =145k] 5 T=293k

-5.7x 10* kJ 1
-4.25x 10* J 5
+87.9kJ 3

+152.5 kJ 4
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/1 produced during the reaction between ) giaa aAing gl o g gl i 8 o D g ) o

arbonate and acetic acid solution Pl sl
02 1
N2 2
H2 3



https://seraj-uae.com/file/7719/

following is correct about to the reaction below? Polial Jelitl] Aundly dauana :,J:J'p =l _ad) ;__;i

NH;(aq) + H,0() = NH,*(aq) + OH (aq)

considered as Arrhenius base Gegish ) 3l NHy ad A

considered as a Bronsted - Lowry acid s = i 2 H,0 i @
cepts an electron pair from H.0 H,0 (e Slig A8 75 Jalled NH; .C
cepts H* ion in the forward reaction bl el L H* (gl s H,0 .D
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ich of the following substances ionize completely in
eous solutions producing hydronium ions H3O*?

Sligd @iy Ailal) Jullaal) 3 Ll ol 4G Jigal) (e ()

TH;07 apaig g
. | HCI

Il. | HC;H10;

i, | H:S0,

IV. | HCIO
A. land Il s 1 A
B. Il and llI iMms i .B
C. land Il sl @
D. I, Il and IV IVsllsl .D
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What is the acid ionization constant of the equation shown below? £alia) Al Alibaall plaanll (G Gl utl La

HNO,  +H,0, SH,0*  +NO,-

2(aq) 2= (aq) 2 (aq)

K. — (H30°]NoOz]
a [HNO2] 1

__ [HNOZ]
A [H30*][NO3] 2

_ [H30*](N03)
4 [HNO2][H30] 3

__ [HNDz][H20]

Ka = (1;0°1vo3] N
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he following statements is correct about the
hown below?

falia) Je il Audly Ao 4l i jlad) (o1

CH3NH,(aq) + H,0() = CH3NHs;*™(aq) + OH (aq)

§€ CH;NH, is weak and the conjugate base OH" is strong

ik OH 4idi jal) a5 \il)y dhaia CHyNH, s )

Se CH;NH; is strong and the conjugate base OH is weak

dhads OH ARl ) Sslll) g 4 g CH;NH, 31 B

n has lowest attraction for H* ion than has a
lle of CH;NH,

CH3NH, #5)3 4sliag baa I H* (5 Gia i OH 0l ,C

uilibrium lies far to the right

sl (1 Ve G5 423 D
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How many times increases the concentration
of hydrogen ions [H*] in the solution X than | e X Jsiaall & [HY] Gt Osdl 385 &3 54 a8

in the solution Y according to the figure Lolial aa ) cinaan Y J plaall
below?
Xalas Y Jolas
solution X solution Y
O O
pH ] 1 2 3 4 5 G 7 8 9 10 LB 12 13 14
pOH 14 13 12 1 10 9 8 7 [ 3 4 3 i 1 0
A. 2 times (CS2) 2 .A
B. 10 times <10 .B
C. 100 times 334100 .@
D. 1000 times 3+ 1000.D
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the K, value of 0.0091 M solution of 0.0091 M 23S 5 HF b sl g jagdl paan Jglaal K, At La
oric acid HF with a pH =2.68? ‘pH=2.68

HF(aq) = H*(aq) + F~(aq)

Ka=7.6 % 1073 1
Ka=6.3 x 10°* 2
Ka=9.9%x 1077 3

Ka=4.8x10% 4
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1is the correct arrangement according to 3(Y) 5 (X) Jdaall pOH 4ad G ruasall saelalll cud Al L

JH values of the solutions (X), (Y), and (£)
| have the following characteristic?

? AUl Gailaddl Cid (2)

(X):pH = 10.5
(Y): [H*] = 10712

(Z): [OH ] = 107

est) (Y) = (X) = (Z)nighest)

o (2) « (X) « (V) o @

est) (X) = (Y) = (Z)mighest)

) (Z) « (Y) « (X) (@) .B

est) (Z) = (X) = (Y) (highest)

) (Y) « (X) « (Z) () .C

est) (X) = (Z) = (Y)nighest)

s (V) « (Z) « (X) (g .D
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t is the molarity of sulfuric acid H2SO,
tion if 68.4 mL of 0.333 M NaOH solution is
led to neutralize 49.0 mL of the acid solution?

Cra 68.4 mL a3 13 H S0, <l pSl) Gaaa Jslaa 4 Y 34 b
foaaadl Jslaa (34 49.0 mL Adstaal 0.333 M NaOH Jsias

H,SO4(ag) + 2NaOH(ag)— Na,SO; + 2 H,O())

0.232 M
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Which of the following statements is correct according to the
titration curve and indicator table shown below?

i) o<l (] gan g 3 pulaal) Sadas gl Led daaua 4 x?\j.gl\ s
Calial Aaud gall

o9
12
11

10—
<
8
sl sae s x 7
Indicator range Indicator f
8.2-10 ol gi 4
Phenolphthalein 3
6.0-7.6 Jyasigag ol 3,5 s
Bromthymol blue o

O 5

S===c

K

S Alais

Equivalence
(poml pH, 7.00

I I I ! 1 I I I I
10 15 20 25 30 35 40 a5 S0

Volume of 0.100 M NaOH added (mL)

(ML) Mo 0.100 M NaOM s

A. The acid is weak, and Phenolphthalein is the suitable 90 Bl 038 (B dalidiu) asiial) CASIS) § chds el (A
indicator to use in this titration Ol ol

B. The acid is strong, and Bromothymol blue is the AuJ) sh el 0dh (2 dladind el il 5 (o 58 pasad) @
suitable indicator to use in this titration J et ga 5l

C. The acid is strong, and Phenolphthalein is the suitable 98 5l odh B Anladind auddall CiZISll g (5 58 Gaaadl C
indicator to use in this titration Ol gl

D. The acid is weak, and Bromothymol blue is the uJ) 5h Bl 2dh (2 Adladin) Gediall A 5 aaua aaall D
suitable indicator to use in this titration Joast ga 5l
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